

TO VALIDATE, GO TO Certificate Number : GI-COO-42797-65c2bf4d50b46 Date : February 06, 2024 VERIFY.FTGS.US

	VERIFY.FIGS.US Date: February 06, 2024					
Seller (Exporter) Healthy Green Life Corporation	Transport Tyj Vessel	pe		Port of Loading Los Angeles		
43 Corporate Park Irvine CA USA	Destination Country China			Destination Port Xingang Tianjin		
Consignee	Export Date 2024-02-03 Import Permit Number N/A		Exporting Carrier N/A			
Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone,			Bill of Lading 415310513			
Huimin District, Hohhot, Inner Mongolia 010110 China	Owner or Age N/A	ent	Forwarding A N/A	sgent		
Buyer (Importer) Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Remarks Total: 1404   Total: 575.79					
Description (May include notes on Quantity, Item Number, Marks and Number	rs. Kind of Package	(20	Weight	Country of Origin		
Alfalfa Hay			21.7 mt	United States		
Marks: EMCU8974610 52bales Alfalfa Hay Marks: EMCU8278090 52bales			21.437 mt	United States		
Alfalfa Hay Marks: EGSU9088811 52bales			21.718 mt	United States		
Alfalfa Hay Marks: TGBU6890566 52bales			21.011 mt	United States		
Alfalfa Hay Marks: TGBU6967713 52bales			20.648 mt	United States		
Alfalfa Hay Marks: EGHU9479643 52bales			20.983 mt	United States		
Alfalfa Hay Marks: MAGU5365752 52bales			21.609 mt	United States		
Name of Authorized Trade Association		<ul> <li>The above-mentioned goods orig applicable in the country(les) to tf -The information in this certificate accurate, true and complete.</li> <li>The Applicant undertakes to advi Certificate (or to whom the Certifi of any inaccuracy, omission or ch.</li> <li>The Applicant will maintain, and truth, accuracy and completeness</li> <li>In consideration for the GIC's issue</li> </ul>	ginate in the country(ies) speci- rose goods. e and in any documents provide se GIC and any other person(s cate is provided to with the kni ange in such information, or in present upon request, such doo of this certificate and accomp uance of this Certificate, the Ap connection with the issuance of is made against GIC in connect	sumentation as is necessary to verify the anying documents. applicant agrees to release, discharge and hold of this certificate and to indemnify GIC in ion herewith.		

GI-COO-42797-65c2bf4d50b46 / February 06, 2024



TO VALIDATE, GO TO Certificate Number : GI-COO-42797-65c2bf4d50b46 **VERIFY.FTGS.US** Date: February 06, 2024

	VENIT 1.1 103.05 Date : February 06, 2024				
Seller (Exporter) Healthy Green Life Corporation	Transport Ty Vessel	Transport Type Vessel		Port of Loading Los Angeles	
43 Corporate Park Irvine CA USA	Destination ( China	Destination Country China		Destination Port Xingang Tianjin	
Consignee	Export Date 2024-02-03	Export Date 2024-02-03		rrier	
Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone,	Import Perm N/A	Import Permit Number N/A		Bill of Lading / AWB 415310513990	
Huimin District, Hohhot, Inner Mongolia 010110 China	Owner or Age N/A	ent	Forwarding A N/A	lgent	
Buyer (Importer) Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Remarks Total: 1404 Total: 575.7				
Description (May include notes on Quantity, Item Number, Marks and Numbe	are Kind of Deeker		Weight	Country of Origin	
Alfalfa Hay Marks: EGHU9127961 52bales		ES.)	20.874 mt	United States	
Alfalfa Hay Marks: TEMU6375611 52bales			21.355 mt	United States	
Alfalfa Hay Marks: TGHU6664004 52bales			21.736 mt	United States	
Alfalfa Hay Marks: TGBU7146646 52bales			21.337 mt	United States	
Alfalfa Hay Marks: MAGU5383870 52bales			21.736 mt	United States	
Alfalfa Hay Marks: FFAU1681977 52bales			22.272 mt	United States	
Alfalfa Hay Marks: DFSU6644806 52bales			22.317 mt	United States	
Name of Authorized Trade Association		<ul> <li>The above-mentioned goods originapplicable in the country(ies) to the The information in this certificate accurate, true and complete.</li> <li>The Applicant undertakes to advisi Certificate (or to whom the Certific of any inaccuracy, omission or chail - The Applicant will maintain, and primut, accuracy and completeness of the consideration for the GIC's issues the constant of the GIC'</li></ul>	nate in the country(ies) speci isse goods. and in any documents provide e GIC and any other person(s) ate is provided to with the knc nge in such information, or in esent upon request, such doc of this certificate and accomp ance of this Certificate, the Ap ponnection with the issuance c made against GIC in connect	sumentation as is necessary to verify the anying documents. oplicant agrees to release, discharge and hold of this certificate and to indemnify GIC in ion herewith.	



TO VALIDATE, GO TO Certificate Number : GI-COO-42797-65c2bf4d50b46 **VERIFY.FTGS.US** Date : February 06, 2024

	VENII I.I I	03.03	e February 06, 202	4		
Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel			Port of Loading Los Angeles		
Irvine CA USA	Destination Country China		/ X / / / // / / XXX/X/ / X//	Destination Port Xingang Tianjin		
Consignee	Export Date 2024-02-03		Exporting C N/A	Exporting Carrier N/A		
Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone,	Import Permit Number N/A			Bill of Lading / AWB 415310513990		
Huimin District, Hohhot, Inner Mongolia 010110 China	Owner or Age N/A	ent	Forwarding N/A	Agent		
Buyer (Importer) Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Remarks Total: 1404 Total: 575.7					
Description (May include notes on Quantity, Item Number, Marks and Numbe	ars Kind of Package		Weight	Country of Origin		
Alfalfa Hay			21.464 mt	United States		
Marks: EITU1622070 52bales						
Alfalfa Hay			21.519 mt	United States		
Marks: FFAU2092349 52bales						
Alfalfa Hay Marks: EGHU9329469 52bales			21.219 mt	United States		
Alfalfa Hay Marks: IMTU9020679 52bales			21.337 mt	United States		
Alfalfa Hay Marks: FCIU9787767 52bales			20.856 mt	United States		
Alfalfa Hay Marks: EGHU9341633 52bales			21.337 mt	United States		
Alfalfa Hay Marks: EGHU9709160 52bales			21.128 mt	United States		
Name of Authorized Trade Association		<ul> <li>The above-mentioned goods orig applicable in the country(ies) to ti -The information in this certificate accurate, true and complete.</li> <li>The Applicant undertakes to advi Certificate (or to whom the Certifi of any inaccuracy, omission or ch</li> <li>The Applicant will maintain, and truth, accuracy and completeness</li> <li>In consideration for the GIC's issue</li> </ul>	ginate in the country(ies) spec rose goods. e and in any documents provid- ise GIC and any other person( icate is provided to with the ka ange in such information, or i present upon request, such di so f this certificate and accon uance of this Certificate, the 4 connection with the issuance is made against GIC in conne	ocumentation as is necessary to verify the papying documents. Applicant agrees to release, discharge and hold of this certificate and to indemnify GIC in ction herewith.		



TO VALIDATE, GO TO Certificate Number : GI-COO-42797-65c2bf4d50b46 VERIFY.FTGS.US Date : February 06, 2024

	VERIFY.FIGS.US Date: February 06, 2024					
Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel			Port of Loading Los Angeles		
43 Corporate Park Irvine CA USA	Destination Country China			Destination Port Xingang Tianjin		
Consignee	Export Date 2024-02-03		Exporting Carrier N/A			
Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone,	Import Permi N/A	it Number	Bill of Lading 4153105139	Bill of Lading / AWB 415310513990		
Huimin District, Hohhot, Inner Mongolia 010110 China	Owner or Age N/A	ent	Forwarding A N/A	igent		
Buyer (Importer) Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Remarks Total: 1404 bales Total: 575.792 MT					
Description (May include notes on Quantity, Item Number, Marks and Numbe	ers Kind of Package		Weight	Country of Origin		
Alfalfa Hay			20.983 mt	United States		
Marks: EGHU9837048 52bales Alfalfa Hay Marks: TGBU5829480 52bales			20.911 mt	United States		
Alfalfa Hay Marks: EMCU1610392 52bales			21.664 mt	United States		
Alfalfa Hay Marks: EITU1420260 52bales			20.602 mt	United States		
Alfalfa Hay Marks: EGSU9154111 52bales			21.083 mt	United States		
Alfalfa Hay Marks: EITU1475160 52bales			20.956 mt	United States		
end of products						
Name of Authorized Trade Association		<ul> <li>The above-mentioned goods origin applicable in the country(ies) to tho -The information in this certificate a accurate, true and complete.</li> <li>The Applicant undertakes to advise Certificate (or to whom the Certificat of any inaccuracy, omission or char -The Applicant will maintain, and pri truth, accuracy and completeness of -In consideration for the GIC's issue</li> </ul>	hate in the country(ies) speci- se goods. and in any documents provide e GIC and any other person(s) at is provided to with the kno rigge in such information, or in esent upon request, such doc f this certificate and accomp nce of this Certificate, the Ap onnection with the issuance of made against GIC in connect	umentation as is necessary to verify the anying documents. plicant agrees to release, discharge and hold of this certificate and to indemnify GIC in ion herewith.		

**Price Terms:** 

CIF

Invoice Metric

#### Healthy Green Life Corporation 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

COMMERCI	AL INVOICE		Invoice No. Date:	SD-202402003 2/5/24
<b>Shipper/Exporter</b> : Healthy Green Life 1152 S Roughcut D Casa Grande, AZ 8!	Corp Pr	Station 3E-028, Beixing Lianchuang	, nsive Bonded Zone,	GCO.,LTD
Vessel:	EVER FASHION	Contract No.:	SDHT-HGLC2023-6	
Voyage No.:	1332-013W	Booking No.:	415310513990	
Shipping Line:	Evergreen	Country of Origin	: USA	
Port of Loading:	LOS ANGELES, CA	Discharge:	TianjinXingang, China	
ETD:	2/1/24	ETA:	3/9/24	

Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
DFSU6644806	082493	Alfalfa Supremi	52	22.317	\$470.00	\$10,488.99
EGHU9127961	A1490960	Alfalfa Supremi	52	20.874	\$470.00	\$9,810.78
EGHU9329469	082482	Alfalfa Supremi	52	21.219	\$470.00	\$9,972.93
EGHU9341633	082487	Alfalfa Supremi	52	21.337	\$470.00	\$10,028.39
EGHU9479643	A1490863	Alfalfa Supremi	52	20.983	\$470.00	\$9,862.01
EGHU9709160	082490	Alfalfa Supremi	52	21.128	\$470.00	\$9,930.16
EGHU9837048	082472	Alfalfa Supremi	52	20.983	\$470.00	\$9,862.01
EGSU9088811	A1490920	Alfalfa Supremi	52	21.718	\$470.00	\$10,207.46
EGSU9154111	082451	Alfalfa Supremi	52	21.083	\$470.00	\$9,909.01
EITU1420260	082473	Alfalfa Supremi	52	20.602	\$470.00	\$9,682.94
EITU1475160	082458	Alfalfa Supremi	52	20.956	\$470.00	\$9,849.32
EITU1622070	082497	Alfalfa Supremi	52	21.464	\$470.00	\$10,088.08
EMCU1610392	082474	Alfalfa Supremi	52	21.664	\$470.00	\$10,182.08
EMCU8278090	A1490918	Alfalfa Supremi	52	21.437	\$470.00	\$10,075.39
EMCU8974610	A1490914	Alfalfa Supremi	52	21.700	\$470.00	\$10,199.00
FCIU9787767	082488	Alfalfa Supremi	52	20.856	\$470.00	\$9,802.32
FFAU1681977	A1490959	Alfalfa Supremi	52	22.272	\$470.00	\$10,467.84
FFAU2092349	082499	Alfalfa Supremi	52	21.519	\$470.00	\$10,113.93
IMTU9020679	082485	Alfalfa Supremi	52	21.337	\$470.00	\$10,028.39
MAGU5365752	A1490956	Alfalfa Supremi	52	21.609	\$470.00	\$10,156.23
MAGU5383870	A1490957	Alfalfa Supremi	52	21.736	\$470.00	\$10,215.92
TEMU6375611	A1490951	Alfalfa Supremi	52	21.355	\$470.00	\$10,036.85
TGBU5829480	082471	Alfalfa Supremi	52	20.911	\$470.00	\$9,828.17
T <u>Ğ</u> BÜ6890566	A1490868	Alfalfa Supremi	52	21.011	\$470.00	\$9,875.17
TGBU6967713	1490870	Alfalfa Supremi	52	20.648	\$470.00	\$9,704.56

2/5/24, 3:21 PM				Invoice Metric		
TGBU7146646	A1490955	Alfalfa Supremi	52	21.337	\$470.00	\$10,028.39
TGHU6664004	A1490953	Alfalfa Supremi	52	21.736	\$470.00	\$10,215.92
Total Value:			1,404	575.792		\$270,622.24
Deposit (\$150/N	1T):					\$86,368.80
Downpay Payment:						\$184,253.44
Remaining Balar	nce:					\$.00

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

By Healthy Green Life Corporation

AUTHORIZED SIGNATURE

